YAMAHA R1 2015 | Tendicatena - Chain adjuster TCO01Y02

Z
)

Atftenzione: in fase di montaggio eliminare la Reference Description
rondella originale del perno ruota Right chain adjuster frame
Attention: during the assembly phase remove the Left chain adjuster frame
original washer Right adjuster
Left adjuster
Regulator screw
Regulator handle
Chain adjuster block
M8 x 20 screw
M4 x 8 screw
M4 x 16 screw
Nylon washer
MS& screw (spring plunger)
Spring (spring plunger)
Ball (spring plunger)
Brake caliper support
35mm spacer
Mé x 50 screw
M4 x 10 screw

Attenzione: e consigliato far montare il seguente
prodotto da un'officina specializzata

Attention: It is recommended to mount this product
by a specialized workshop

CclH|» @O OO ZImIZ|—|O|mm a0 w| >
NI— == NINININEEINININININ—= = ——

4

Zoi e 2~

valtermoto.com




